18 (88178 K ) g28 (88188 (X)) £38 (88198 (& )

945 A1 B 400m F 7-3+3 915 1 T 200m F 5-3+1 915 1 k=4 100m F 62+
1010 2 B 400m F 8-2+8 935 2 T 200m F 5-3+1 935 2 k=4 100m F 5-3+1
1035 1 k=g 400m F 3-2+2 9565 1 B 200m F 9-2+6 955 1 B 100m F 11-2+2
1045 2 T 400m F 4-1+4] 1025 2 B 200m F 8-2+8] 1030 2 B 100m F 9-2+6
1100 2 T 1500m F 2-6+4] 11:00 1 T 400mH ¥  2-3+2] 1100 A1 B 800m #  2-3+2
1115 1 B 1600m % 2-6+4| 1110 2 ks 400mH ¥ 2-3+2| 1110 2 B 800m #  3-2+2
11380 2 B 1500m F 3-4+4] 1120 1 B 400mH ¥ 4-1+4] 1125 A1 k=g 100m ¥ 2-3+2
1200 1 k=g 100mH ¥ 2-3+2| 1140 2 B 400mH ¥ 3-2+2| 1135 2 T 100m ¥  2-3+2
1210 2 k=g 100mH ¥ 2-3+2| 1155 1 k=4 200m # 2-3+2| 1145 A1 B 100m ¥ 3-2+2
1225 1 B 110mH ¥ 3-2+2| 1205 2 T 200m # 2-3+2| 1155 2 B 100m ¥ 3-2+2
1240 2 B 110mH ¥ 3-2+2| 12115 1 B 200m #  3-2+2| 1240 A1 ks 800m R
1265 1 B 400m # 3-2+2| 1225 2 B 200m # 3-2+2| 1250 2 ks 800m R
1305 2 B 400m # 3-2+2| 1235 A1 T 800m F 5-1+3] 1300 1 B 800m R
1315 12 5% 5000mW R 1300 2 k=4 800m F 4-1+4| 1310 2 B 800m R
1400 1 k=4 100mH R 13:20 g  4X100mR R 1320 1 T 100m R
1405 2 k=4 100mH R 1325 £  4X100mR R 1325 2 ks 100m R
1420 1 B 110mH R 1330 1 B 800m F 6-2+4] 1330 1 B 100m R
1425 2 B 110mH R 1400 2 B 800m F 9-2+6] 1335 2 B 100m R
1435 1 k=4 400m R 1450 1 k=g 400mH R 1345 1 T 3000m R
1440 2 k=4 400m R 1455 2 T 400mH R 1400 2 T 3000m R
1445 1 B 400m R 1505 1 B 400mH R 1415 1 B 5000m R
14560 2 B 400m R 1510 2 B 400mH R 1440 2 B 5000m R
1455 1 k=g 1500m R 1620 1 k=4 200m R 1505 g 4X400mR R
1805 2 k=4 1500m R 1625 2 k=4 200m R 1515 £ 4X400mR R
1615 1 B 1500m R 1530 1 B 200m R
1625 2 B 1500m R 1635 2 B 200m R
1535 g  4X100mR F 4-1+4| 1545 1 £  3000mSC R
15565 8 4X100mR F 5-0+8|] 1610 2 £  3000mSC R

16:30 Z  4X400mR  F  4-1+4

1655 £ 4X400mR F 50+8
1000 1 k=4 ENRE R 1000 1 B Egk R ABeEvr] 1000 A1 B =ERBE R
1100 1-2 % el R 1000 #H& k=4 =EBBF R swoesr] 1000 A k=4 EsB R
11:00 #H& k24 el R
11:00 B ESP R
1300 2 k=4 ENRE R 1400 2 B EfgEk R ABEvr] 1200 2 k=4 ESE R
1400 2 B ESE R 1230 2 B =EBRBE R
1000 1-2 B Mv-$ 3R 945 A1 k=4 WOk R 1000 #H& k=4 NnNyv—tg R
1000 1 k=4 Rl R 1115 2 k=4 WOk R 1030 1 B kil R
1130 2 k24 g R 1200 2 ES g R
1230 1 B VO’ R 1300 1 ES) mPERE R 1200 1 k=4 mPERE R
1430 2 B VO’ R 1430 2 b3 mPERE R 1330 2 k=4 mPERE R

RERUSRESENIBE LIRS

% N—0LFH

Esdt 155 1m40 1m70
1m45-50-60-65-70-75-78-81
255 1m50 1m75
1m55-60-65-70-75-80-83-86

EEEk 185X 1m15 1m35
1mM20-25-30-35-40-45-48-51
2L 1m25 1m50
1Mm30-35-40-45-48-51-54-57

Eaik S7 2m50 4m00
2m60-80-3m0O0-10-20-30-40
qF 1m0 3mOO
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€
€9
€9
60

2m00-20-40-60-70-80-90-3m00

X FHAIECER
15 2%

BF ENBBk 5m40 5m80
[ibsk: 6m00 8mO0

(R):25 15m00  15mO0

NI~ —1% 15m00 -

W0k  30mOO0  35m00

aF TENRZBE 3m80 4m20

[ib ks 5m00 7mOO
(R):25 15m00  20mO00
pelakit 15m00  25m00
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